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A A
GENERAL KNOWLEDGE

WA 1 Y8 GR fawe “stfeca uer1’ e g&ifuq foman mm e ?

(A) s 2023 (B) 3T 2024 (C) SIH 2023 (D) AdEsT 2023
When was first solar mission of India ‘Aditya L1’ launched ?

(A) September 2023 (B) October 2024 (C) June 2023 (D) November 2023
forr wre @ AU TRETE W, 2023 A R ™ 9 7

(A) S (B) TS (C) ®&Imsit (D) e

In which city Para Asian Games, 2023 were held ?

(A) Beijing (B) Guangzhou (C) Hangzhou (D) Shanghai
2024 T R uffa wa fafma i€ (Fsh) 1 sreae fopn fgera fomam mm o 7

(A) 3T Tt (B) TTeEt gt = (C) I, . fwar (D) . 3TR. Tgan
Who was appointed as the Chairperson of the Securities and Exchange Board of India (SEBI) in 2024 ?
(A) Ajay Tyagi (B) Madhabi Puri Buch (C) U.K. Sinha (D) D.R. Mehta
aftrerrg § we off UsEifaes et < aftremm o wem foReeh g IE B A ¢

(A) HuA ET GESEIEI

(C) v FIR (D) SE® foem@ TR

Who launched ‘Tamilaga Vettri Kazhagam’, a new political party in Tamil Nadu ?

(A) Kamal Hasan (B) Rajnikant

(C) Ajith Kumar (D) Joseph Vijay Chandrashekhar

19 9t Sft-20 fSrer T wal STfoa femam mm e 7

(A) 7§ feoett, wrd (B) Tt fe s, ssfiet

(C) Sfehral, guERfr (D) TR, &

Where was 191" G-20 Summit held ?

(A) New Delhi, India (B) Rio de Janeiro, Brazil

(C) Jakarta, Indonesia (D) Moscow, Russia

ToeD A TR hi e3TTd el gl ?

(A) 2 3A%gsT, 2014 (B) 21 31T&d, 2014 (C) 22 3Hall, 2015 (D) 28 3%, 2014
When Swachha Bharat Mission was started ?

(A) 2 October, 2014 (B) 21 August, 2014 (C) 22 January, 2015 (D) 28 August, 2014
gTSIfhfa wieTor 1 ST duem e feRam o ¢

(A) . T 2o (B) W. . 9 (C) . USA. HRAY (D) T. TH. UgagH
Who was the first to apply the sociometric test ?

(A) J. A. Davis (B) A.J.Reiss (C) J.L.Moreno (D) A. M. Edwards
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8.

10.

11.

12.

fr=farRaa 1 v 1sn | afeya Hifvw
|. SRy d9eh
II. TEHeRT T THERTT
III. EHehT T fergetwom
IV. FHeh! T SR Lol
= feu T e § | T W g
e
(A) L1, 1V, B) I, 1V, 1,11 (C) 1,1, 1v, 1 (D) I, 1, 1, 1V
Arrange the following in a sequence :
I. Raw Data
Il. Data Processing
[ll. Analysis of Data
IV. Presentation of Data
Choose the correct answer from the code given below :

Code :

(A) 1,11, 1V, 11l B) 1,1V, 11, 1l (©) 1, 11,1V, 1 (D) 1,111, 1, IV
frafafiga & @ S-w1 v g9 gfawfiE s wmfirer @ 9 iy s wefies Afaes fem g ¢
(A) TIfeIshia Tgca gHfead e (B) Teremet wfarest 3R wTed e

(C) 3~ 3N UgIGAT BT TANT HEAT (D) TR sht MYf~=dT s T

Which one among the following is a primary ethical consideration when conducting research involving
human participants ?

(A) Ensuring statistical significance (B) Achieving a large sample size

(C) Utilizing advanced research methodology (D) Maintaining participant anonymity
WINWeh AR ST 31T et freror <6 fafer 2, fohaes gra amoy i =t 7

(A) Taferm e (B) M (C) ST et (D) S fomt
Who introduced discovery learning method of inquiry based education ?

(A) William James (B) Jerome Bruner (C) John Dewey (D) Jean Piaget

forvafaare™ 3TIegH 3TN i -5l ugd 3=a fien # “fefiea @i’ 6t g 1 gHe™ S
1 AT TEA B 7

(A) =S I IR (B) W Tsdiw fefsreet wmssft (NDLI)

(©) fefsrea sfean swrishn (D) sfew wieh Tt gara fervafaamer™ (IGNOU)
Which initiative of UGC aims to address the challenges of “Digital Learning” in higher education ?

(A) Swachh Bharat Abhiyan (B) National Digital Library of India (NDLI)

(C) Digital India Programme (D) Indira Gandhi National Open University (IGNOU)

TIMAT H&AT 10 T Srei) Yfafferes = 8 2

What is the binary representation of decimal number 10 ?
(A) 0110 (B) 1001 (C) 1010 (D) 1100
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13.

14.

15.

16.

17.

18.

MirETge weg w1 aredd 8

(A) 1024 §T8CH (B) 1024ﬁh_c'ﬁ7=l'|323? () 1024137“31323? (D) 1024Tﬂ1T|T=l'|323?
The term gigabyte refers to

(A) 1024 bytes (B) 1024 kilobytes (C) 1024 megabytes (D) 1024 gigabytes
Siterel 1 o B Fre @ w-a e S g R 7

(A) MS Access (TH. TH. TFEH) (B) MS Excel (TH. TH. THHd)

(C) Google Docs (T[TT ST (D) MS PowerPoint (TH. TH. TelTise)

Which tool is used among the following for data calculation ?

(A) MS Access (B) MS Excel

(C) Google Docs (D) MS PowerPoint

e o -3 gAqe feamsa’ B ¢

(A) IR @ig fet (B) A (C) WiFX (D) 5@ Tt

Which of the following is an ‘input device’ ?

(A) Bar code reader (B) Monitor (C) Projector (D) Braille reader
wRiaeiE ifefad # aRade & qva-yg § digi < S Tidfaer o 99 Sl %l S 8

(A) Trifefeeht (B) ufereT fame

(C) Sary fosm (D) aTfeht

The timing of seasonal activities of plants in relation to change in environmental conditions is referred to as
(A) Ecology (B) Phenology

(C) Climatology (D) Forestry

‘RIS Weishie’ FefaRad o & fora v & grafa g 7

(A) Torrea wuet 9 (B) IMEfH &

(C) Shfera wenfera et @ (D) IS WA TREI0T

‘Cartagena Protocol’ is related to which one of the following ?

(A) Heritage sites (B) Wetlands

(C) Living modified organisms (D) Ozone layer conservation
Frferfaa @ @ SF-w e IR N Jonelt B e it Seae AT S @l T 9" ekl § 7
(A) HTET TH (B) hTeA TR

(C) = T (D) whTe gfem

Which one among the following is a market based system where companies can buy and sell emission
permits ?

(A) Carbon Space (B) Carbon Sequestration

(C) Carbon Sink (D) Carbon Trading



19. Trafafea armeea A4l 6t 37 AT Ufaerd & =ed U U Safed S |

|. <hIeA SIE3TFETES

1. ATgerS
1. SATerSH

Iv. 3t
i fou T e & @ wE I g
<hc:
(A) L1 1V, 1 (B) I, 1v, 1,1 (C) 1, NIV, I (D) 1, m, 1,1V
Arrange the following atmospheric gases in order of their volume percentages in descending order.
I. Carbon dioxide
[I. Nitrogen
[ll. Oxygen
IV. Argon

Choose the correct answer from the code given below :
Code :

(A 1,11, 1V, 11 B) 1, IV, 1, i (C) 11,11, 1V, | (D) 1, 1L, 11, IV

20. Tr=Afafaa wgl 1 37 Hefia 3@t & YR W ged i § aied Hivd |
Ity

T

geeafd

.

= feu MU e ¥ @ wE 3w g

He

(A) 4,3,2,1 (B) 4,1,3,2

() 3,2,1,4 (D) 3,4,2, 1

P 0 Dbd -

Arrange the following planets in descending order according to their orbital period.
1. Saturn
2. Mars
3. Jupiter
4. Uranus

Choose the correct answer from the code given below :

Code :
(A) 4,3,2,1 (B) 4,1,3,2
(C) 3,2,1,4 (D) 3,4,2,1



21. = T %o for e E, S & v A ifieRed (A) T QR I SR (R) HET T R |

AU (A) : TS HIS Tg T4 & Fehetohl a5 T T HLAT ], d1 98 $S SR 33 14T 8 |
RO (R) : {95 % STo1 sl TFcd ¢l o STot o ocd & 3R 2 |

= feu U e W | T W g

He

(A) (A) 3 (R) ST & & 3R (R), (A) h1 Tl =aTEaT hiell @

(B) (A) 3R (R)EHI A €, T (R), (A) I Wl =T & T &

(C) (A)ed B, T (R) TIed &

(D) (A) T B, WG (R) &cd @

Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).

Assertion (A) : When a ship leaves a river and enters the ocean it rises a little.

Reason (R) : The density of sea water is more than that of river water.

Select the correct answer from the code given below :
Code :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(C) (A)is true, but (R) is false

(D) (A) is false, but (R) is true

22. Torm fafy 1 stfge e witg afifs 6 Sow o st 3 FUEET O TR & fave S Ter wE
! el AT 7
(A) 145, 1947 (B) 123, 1947 (C) 043H, 1947 (D) 033, 1947

On which date Gandhiji asked Congressmen to accept the Partition of India at the All India Congress
Committee Meeting ?

(A) 14 June, 1947 (B) 12 June, 1947 (C) 04 June, 1947 (D) 03 June, 1947
23. freafafed & @ w-o1 v fowy wmadl g=h 4 i & 7

(A) Torem (B) =TT =T

(C) & 3 A (D) Sleh SIS

Which one of the following subjects is not in the concurrent list ?

(A) Education (B) Administration of justice

(C) Weights and measures (D) Public health
24, TS fohteh R H USIGd o &9 H 3T o1 7

(A) forgam (B) 3™IIh (C) wFswt Wi (D) ez

In whose court did Megasthenes come as an ambassador ?

(A) Bindusar (B) Ashok (C) Chandragupta Maurya (D) Brihadratha

25. TSl H g4 weH fohd Iy @R feram T ot ?

In which year Dyarchy was started in the provinces ?
(A) 1909 (B) 1919 (C) 1935 (D) 1937
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26.

27.

28.

29.

30.

TRt e o ford gone & ded e & s i Wifern srfiepr % &9 § T & W ] 7

(A) STT=DT 21(A) (B) 3TI=5% 45

(C) 3T=®¢ 19 (D) 3TT=8E 32

Under which Article of Indian Constitution is the Right to Education guaranteed as Fundamental Right ?
(A) Article 21(A) (B) Article 45

(C) Article 19 (D) Article 32

form Tfaam gened gR1 FEhrt afufad s TauTes gt JeH foha T ?

(A) 96 EiaY™ TeMeE (B) 97 9T Gfae= Hmed

(C) 99 df wfga Hsme (D) 101 af |faea dsneq

By which Constitutional Amendment, the Co-operative Societies were given Constitutional status ?
(A) 96 Constitutional Amendment (B) 97 Constitutional Amendment

(C) 99t Constitutional Amendment (D) 101t Constitutional Amendment

WHifag TR (2020 — 21) % A T O a8 TUTIId &1 6T 5hH R refeqawa & e |
=gtd IS |

(A) ¥, T, s (B) &, pf, JEiwT

(C) a, &, By (D) 3=, ¥, BV

Select the order of worst affected sectors in the context of Indian Economy during Covid Pandemic
(2020 — 21).

(A) Agriculture, Service, Industry (B) Service, Agriculture, Industry

(C) Service, Industry, Agriculture (D) Industry, Service, Agriculture

Teh g ! SUe, ey fore) safer o1 fopelt @l O 8T A1 71 81 his 3= T8l STeidl 8, el &
(A) 3T TR (B) 3=t SR

(C) HEHt ST (D) T=od AR

A type of unemployment in which the presence or absence of a person in a job does not make a
difference, is called

(A) Under employment (B) Formal unemployment
(C) Seasonal unemployment (D) Disguised unemployment
Tefl SS1C (2025 - 26) % T&d Ugel SR HedTvl 7g AT & Thin <l Feard feam mm 2
(A) faftmio &= & ufirent & f (B) Y & & wftrepi & for
(C) TS e Hftehi o o (D) wfgen ufieni o fort
Under the Union Budget (2025 — 26), first time Social Security Scheme for Welfare has been proposed for
(A) Manufacturing workers (B) Agricultural workers
(C) Online platform workers (D) Women workers
-7- 37
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31.

32.

el CRIC]

PSYCHOLOGY
HAIGRH o Fefeiaa Terert i 3 Javd e 8 gafea i |
g -1 g -1l
1. BLEATETE a. 37 dcdl @l W1 e 19 ffifa g 8
2. TECTee TFIeH b. ITIETYA STIfRATE SR o JAYT 37T 7
3. FehRIETE c. AHTEe FHE IET R ot #ad 2
4. SEENETE d. T U9 SFER kel gid &
= feu MU e § ° T W g
E
1 2 3 4
A a b ¢ d
B)ya ¢ d b
(C)d ¢ b a
MD)ya d c¢c b

Match the following schools of psychology with its fundamental assumptions.
List -1 List -1l
. Structuralism to find out the elements by which the mind is constructed
. Gestalt school conditioned responses are the building blocks of behaviour
. Functionalism mental experiences depend on patterning
4. Behaviourism mind and behaviour are adaptive

w N =
g o oo

Choose the correct answer from the code given below :

Code :
1 2 3 4
(A)a b ¢ d
B)ya ¢ d b
(C)d ¢ b a
MD)ya d ¢ b
AT 391 1 Gray Ao & ford dgrfres Sqrm A 2 7
(A) TRTIrERT 3UTTH (B) TreTee 3UTTH
(C) EHTCHe SUNTH (D) HHEdTETE] 3UMTH

Free will is related to which theoretical approach of psychology ?
(A) Psychodynamic approach (B) Gestalt approach
(C) Cognitive approach (D) Humanistic approach

37
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33.

34.

35.

fFd & AT T Y T IGeh 9 HATHIh VAT 1 Hged T, SURYA fagrd 8
(A) TfereT gaeft 3qmH (B) HANT(Ih 3UTTH hl
(C) SHIERATE! 3UTTH <l (D) ek Tvetour 3UTm <1

The importance of studying and understanding the person from his or her own subjective experience is
the basic tenet of

(A) Phenomenological approach (B) Psychodynamic approach

(C) Behavioural approach (D) Factor analysis approach

Teh IMYhdl Fad €9 & AU QeI =X  Teh = o YR T T fgumelt aRemdt =K =1 qaemeq
ST =R © | 39 uifeafa # f ° 9 fopa-fora aifeashia faveiwon =1 Sum fopem S oepar @ 7

1. 95U Affafeess Tfam ferwerso
2. faviees wehrl fawarmm
3. Tgudia afafees fom faweron
4. SEEE i foreereor
frfafga & & wdt fomen IR
(A) 2T 3 (B) 1Wd 4 (C) e 4 (D) 1,2,3TH 4

A researcher wants to predict a dichotomous outcome variables based on a set of continuously measured
predictor. Which of the following statistical analysis may be used in this situation ?

1. Multinominal logistic regression analysis
2. Discriminant function analysis

3. Binary logistic regression analysis

4. Multivariate regression analysis

Select the correct option from the following :
(A) 2and 3 (B) 1and 4 (C) Only 4 (D) 1,2,3and 4

¥ = a+byXq +bpXp, & X, T X, T T = § 37 Y 30 =1 & | =g Gefieor qurian &
(A) &g TETERE ferversor (B) AT TggTa-
(C) W&l T fergersor (D) " forared

Y=a+ byX1 +bsXs5 , where X, and X, are two independent variables and Y being the dependent
variable. This equation represents
(A) Multiple regression analysis (B) Partial correlation

(C) Analysis of variance (D) Standard deviation



36.

37.

38.

39.

e fome % 3¢ Fid foaRa qeaii o1 oo s 2 |

(A) ~LIdH qe (B) 3= Hed

(C) A Hcd (D) 3\d I

The standard deviation is a measure of the spread of measurements around the
(A) Lowest values (B) Highest values

(C) Standard values (D) Mean values

Tefeas g fithed 1 gemT § R 719 sifiehey § g @

(A) SITET ITITITeh &R BT 8 (B) Y Ife TE BT B
(C) FTTHT HTAT LA Bl & (D) i 94 B &

In comparison to randomized group design, the repeated measure design

(A) has more experimental variance (B) has less error variance
(C) more easy to follow (D) is more valid

Frfafea o @ Sia-a1 gvifea gfiey =1 s YR & 8 7
(A) &% AT ToeA HiaeeH (B) TRV ATgfomes Hfdee
(C) wieT Ufdes= (D) TRa Argfomes fdee

Which of the following is not a type of probability sampling ?
(A) Area or cluster sampling (B) Simple random sampling

(C) Quota sampling (D) Stratified random sampling

fraffaa @ @ S-d t aua Jot i T faemar 2

(A) 380 T = I F© AR F @ it 2

(B) 37l & off9 37X T FTHR TRATIT HT Tehd &

(C) ThIT ! TeE BIC T Tl Tl §S b shivid fehT W1 Hehal B
(D) |9 H Tk wrefeh S BT TRy

Which one of the following is a characteristic of an interval scale ?

(A) ltinvolves putting a variable into a small number of categories

(B) The size of the difference between scores is an indication of magnitude
(C) The scores can be ordered from smallest to largest

(D) There has to be a meaningful zero in the measurement

-10-
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40. Tr=fafgd 9 @ wF-a1 v wHIdTTS MYy F AT deoh-iiehl &1 9T S TE 7 ?
(A) 3T HaT ¥ THHT THHR 1 HA FHEAT
(B) ek Wfcieal & ekt I STEEAT qeh hT HTHTIHT0T
(C) i =t THg & T afterdefietar st TsRsier S
(D) ¥ET 3TN TF Ted ~AIhUT o HIIH & Tt 0T H Yed bl THSHT
Which one of the following is not a main function of statistical techniques in psychological researches ?
(A) Summarization of information collected from multitude of sources
(B) Generalization from a sample to the entire population

(C) Ignoring the variability to make sense of world
(D) Make sense of large amount of data through data explanation and data reduction

41, wfaq 6 gfe & FafaRad § § SH-91 T @ad Tidey & (1) we & ey 7 7

(A) AH-fegeft 3 adiemor (B) HTS—TFIRR qUeqor

(C) meEATeh TliErm (D) Shred wder

Which one of the following is closest to independent sample t-test from power consideration point of
view ?

(A) Mann-Whitney U test (B) Chi-square test

(C) Median test (D) Friedmann test

42, T=Afafgd 9§ @ ®H-91 SR, HREF fovervor § Iguaq it @e & fufor 2q th uree T8 8§ 7

(A) e we fafy (B) IATER T TH. T,

(C) %.TH.3T. Sdeie qdiequr (D) Th! e

Which of the following is not a criterion for determining of factors to retain in factor analysis ?
(A) Latent root method (B) Velicer's MAP

(C) KMO Bartlett test (D) Scree plot

43. FHEha-dferd ANOVA Freferfiaa w1 stmaferss auges g

(A) TR ANOVA (B) Tehic3T ANOVA
(C) fgfemr ANOVA (D) ANCOVA

The Kruskal-Wallis ANOVA is the non-parametric equivalent of the following
(A) Factorial ANOVA (B) One way ANOVA
(C) Two way ANOVA (D) ANCOVA

M -11- 37



44,

45.

46.

47.

48.

I -feget 3 e frerferlad s @ w3 2t 8

(A) hiHeh T (B) 31Ut Y9
(€) fgwfora Surm (D) TfEreR ST
The Mann-Whitney U test is employed with the following

(A) Ordinal scale (B) Interval scale
(C) Dichotomous scale (D) Nominal scale

Tohal Y Tageryor frefarfaa aft 1 sfiet st 8, 36 Sigt

(A) ITERT oM (B) wfcwra

(C) HEAHM, Sgcish Td HITEeh! (D) TEETEE
Univariate analysis include all of the following, except

(A) Frequency counts (B) Percentages
(C) Means, modes and medians (D) Correlation

Tk qieror W ford) saferq o UTed Wg arEdfaeh T o HET % 31X hl shal SIIdT 2

(A) =afedra Ffe (B) Ao Ffe
(C) H@HTISTd &R (D) fafarse s
Difference between a person’s obtained and true score on a test is called
(A) Systematic error (B) Random error
(C) Shared variance (D) Unique variance

THIY T TgEreY METIRad o Teh JFehieh o &9 § TIFd &l dehdl &

(A) TR faved (B) T HITS

(C) TEHIT HHSIICET (D) (A) TS (C) gl @&l &

Item total correlation can be used as an index of the following

(A) Item discrimination (B) Item difficulty

(C) Item homogeneity (D) Both (A) and (C) are correct

FfaRea 4 @ feraes Qe fowetvor ws @@ Aifeasha fhanfafy 2 2

(A) 3T=adeq e (B) 3frsamgufaes Serar
(c) fafdfa deran (D) & AT
Factor analysis is the right statistical procedure for which of the following ?
(A) Content validity (B) Empirical validity
(C) Construct validity (D) Face validity

-12-
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49.

50.

51.

52.

S SR 1ot @ g wh gAfed % THT e hl Teh W TG d¢ T BN hl hedl A 2, 39
TE Sl qhr1eh ol HET AT B

(A) faenfa (B) ThnIdT &I

(C) wtei fasifa (D) HTEEIH

Jenny often closes her eyes and envision herself on a quiet beach during sunset, such technique is
known as

(A) Relaxation (B) Concentrative meditation
(C) Muscular relaxation (D) Visualization

TIasT Teqor <ht forgem Tt 1 uar @ % foie, S/ sheehdt wiemn & favm ge 91 98 )
ferelt safera o TR 6T o T9 AT 91 UST o ThIL W HLAT 7, Al IMeehdl SHHRT ITANT HL T&T 8

(A) Teror-gadderor fovegHrrar fafa (B) TR faey forgaefiear fafy
(C) 314 foeayg forvaerfiarar fafy (D) HifeT whm

To ascertain the reliability of psychological test, when the researcher compares a person’s score on the
odd numbered items of test with the score on the even numbered items, the researcher is using

(A) Test-retest reliability method (B) Parallel form reliability method
(C) Split half reliability method (D) Coding scheme

THAT T BEITeh GSChIT JEIAT Sl Sfad o 3= 3R 30h g@ o €9 § IRATNG HLal & el
FSHIH FISCehI0T I WA & h S
(A) eI 7 (B) IMcH-FRIMG 8 (C) CH-IET 8 (D) SATCHTIHT &

Hedonic view of happiness define happiness as the enjoyment of life and its pleasure whereas eudomonic
view considers that life is

(A) Self-realization (B) Self-achievement (C) Self-glory (D) Self-pride

T gfg i SEumon & grery § Frefaiad § @ SiH-31 T e[ @ 7

(A) IR WIEAISAT Pl TEAMH T Yaiad T 6l &man

(B) ¥ ol U@ S 3 379+ AT i FRIB e <l arwan

(C) Sfed wraHTeHe fo=i o1 HEgH i i &wal

(D) GEX T AEAIST I Tg=H- Td TS i S

Which one of the following is incorrect regarding the concept of emotional intelligence ?
(A) Ability to recognize and manage own emotions

(B) Ability to motivate oneself and restrain one’s impulses

(C) Ability to feel complex emotional ideas
(D) Ability to recognize and manage others emotions
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53. WM ke fHgM (Sh.u.wd.) sfaaa o ufd Sfafshan 1 T fF =i misa seatfad o T g

(A) BIF Bt grr (B) ATNIRH g
(C) %I¥S g/ (D) T g

General Adaptation Syndrome (GAS) is a three stage model of reaction to stress is proposed by
(A) Hons Selye (B) Lazarus
(C) Freud (D) Soloman

54. = g wyA fow e B, S @ U w1 ANHT (A) T G T HRUT (R) e TR |
MR (A) : AT ST S @ fob Sl seme 3ek frsae & gam s |
HIUT (R) : Tsh IHIG @ Toh 3= fvuTed W e fean SR 3R qeesha feparm ST |
e :

(A) (A) 3R (R) a1 T & 3T (R), (A) i Hel AT HTdl 8

(B) (A) 31N (R) GHI & &, T (R), (A) *hl Tl AT &l hidl &

(C) (A) & 2, g (R) TTed @

(D) (A)TTd &, W (R) & 8

Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).
Assertion (A) : People believe that extra effort will improve their performance.

Reason (R) : There is an expectancy that good performance will be noticed and rewarded.
Select the correct answer from the code given below :

Code :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

55. ‘Theqg g’ ffaRea @ grafa 2

(A) Teoraomees TieaTsit (B) THHTcHS HICSTS(t
(C) TEANTIH HigaTsit (D) el uef sraeia
‘Fixed Pie’ is related with the following

(A) Distributive Bargaining (B) Integrative Bargaining
(C) Collaborative Bargaining (D) Third Party Negotiation
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56.

57.

58.

e foepr fSrEm & AR S79e fo=m = |uet § T geATeh 9T 1 39d Hd § 3R =g § 8t
IASHIA | §9d &, 3H hal I 8

(A) fifa (B) T fashr

(C) JANTETAS o &g T qd fIshR (D) UNTAYA /AR 371G

A disorder in which people persistently experience a painful event in their thought or dreams and avoid
stimuli associated with the event, is called

(A) Phobia (B) Panic disorder
(C) Post traumatic stress disorder (D) Paranoia

frfafaa gerTere faem fam & =l %1 T 1A § Safeda Hive |
. dard

Il. ISHRH
. ferear

IV. 3Tagfse
V. HedTe
e few T e # & W I g
Fe:
(A) L 1,1V, vV, I B) LIV, 1,1,V ©) 1, v, 1, v (D) LIV, v
Arrange the following steps of creative idea thinking in a sequence.
I. Preparation
II. Incubation
[ll. Elaboration
IV. Insight
V. Evaluation
Choose the correct answer from the code given below :

Code :
(A) L 1,1V, VI B) LIV, 11,V ©C) 1,1V, 1, v (D) L LV, v

Teft “30S % o kR % foTu S -|1 weg YgFd B § 7

(A) it rhmfa (B) w=gfee AT
(C) Tad: 3N Jomedt (D) Afa IMeAfavam AfFfa
Which term is used for all ‘rule of thumb’ type ?
(A) Framing bias (B) Hind sight bias
(C) Heuristics (D) Over confidence bias
-15- 37



59.

60.

61.

62.

AR ThUT Teh IR &

(A) STRTHATCHSh TehUTT <l (B) T ko Wi
(C) GSHITcHE ThUT (D) EYUTTcHeh qehUTT <1
The syllogistic reasoning is an example of

(A) Inductive reasoning (B) Deductive reasoning
(C) Creative reasoning (D) Declarative reasoning

TeeTee faga & FER fFefafed & @ S9-31 T FH T 8 7

(A) STeaferen Tmed 3fTa & 2 |

(B) STcaféash TS TmeTieh BT 2 |

(C) WTcAleTsh HTe- U e 9mom 2 |

(D) UTcafeTeh TS MY &9 & TTHTIaeh Ue 1 &9 & 31fSd 2 & |
According to Gestalt theory, which one of the following statement is correct ?
(A) Perceptual organization is acquired.

(B) Perceptual organization is natural.

(C) Perceptual organization is a false notion.
(D) Perceptual organization is partially natural and partially acquired.

Yo UgaH 1 HH-|1 TG 3T T 7 foh AT I%q 1 STehUT S0 YR T Hhd & foh 98 avq 39

uft & 37T 3T (Iq) & feheHT TUF B 7
(A) TRICTET Tfeed (B) raete Hfem frgia
() fsfeefaea Hier ufaey (D) HFIHA SUTTH

Which theory of pattern recognition indicates that people categorize objects on the basis of how similar

the object is to an ideal example (object) of that category ?

(A) Prototype models (B) Template matching theory
(D) Computational approach

(C) Distinctive feature models

frmafafiga & @ Si-91 T Tose (S Tt o SR | it T8 @ 7

(A) Wfaes i (B) EZIEIEehITUeh T
(C) 3Icud Tfa (D) TerTfdeh JuTE
Which one of the following is not included in types of apparent motion ?
(A) Physical movement (B) Stroboscopic movement
(C) Induced motion (D) Autokinetic effect
-16-
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63.

64.

65.

= @ %o fou u &, e @ us i fiRuA (A) T gER SR SIROT (R) el T 7 |

rfireRem (A) : i <l foham T foramor =1 shRoT &1 wehdt B |

WU (R) : FAITh BH T8 @IS & 37 Uel ol TcATaM L Tehd & oiishd 381 T 31 3T Ugi o (oY
oy =t od 2, T &9 918 98 % =med @ |

= feu Te e # ¥ FE W T

He

(A) (A) 3R (R) a1 e & 3T (R), (A) i HEl AT HTdl 2

(B) (A) 3R (R) GHI &ed &, T (R), (A) k1 Tl SaTE &l hidl 2
(C) (A)®d B, T (R) TTerd @

(D) (A)TTerd €, W (R) e &

Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).
Assertion (A) : The act of retrieval itself can cause forgetting.

Reason (R) : Because we may recall the items we seek but at the same time generate inhibition of other
items that we don’t try to remember.

Select the correct answer from the codes given below :

Code :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(C) (A)is true, but (R) is false

(D) (A)is false, but (R) is true

T T IeiTeh % Ul ST SR It A % gEt Sedueht o ot I B ol B, o S8 had @
(A) 3CETh HHT=ARTT (B) 3=9 H ITFEA
(C) T e (D) TR TRt s

When a response conditioned to one stimulus tends to be elicited by other similar stimulus,
this is called

(A) Stimulus generalization (B) Higher order conditioning
(C) Pseudo conditioning (D) Backward temporal conditioning

o qd el T gEa, gd | wie mft et o I | S 3cqd ! 8, df 39 hEd @

(A) I SAfHT (B) TseI-gw Tl
(C) TSGR (D) fteR yHTE

When recently learned information interferes with the recall of previously learned information is
known as
(A) Proactive interference (B) Retroactive amnesia

(C) Retroactive interference (D) Primary effect
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66. ARG § & -1 Th T o T=d TET o IF=qq 3 @ ?

(A) HATHH T (B) WfsharcHeh T

(C) (A) T (B) H (D) A4 (A) T (B)
Which one of the following comes under the non-conscious forms of memory ?
(A) Declarative memory (B) Procedural memory
(C) Both (A) and (B) (D) Neither (A) nor (B)

67. 209 YH T TH @I el g Yafed & & Jd Ueh AT el § g8 @l ot Sl 19 SR gaHT U8
Tl & | T IaTE 8

(A) Ffead s srgee (B) T Tt e
(C) TRed Sr STFEe (D) TRedH el SEE

The rat in a operant chamber might have to press the lever 19 times before it was reinforced by a food
pellet contingent on the 20t press. It is an example of

(A) Fixed ratio schedule (B) Fixed interval schedule
(C) Variable ratio schedule (D) Variable interval schedule

68. = g oM fou U &, f & ush 1 A (A) AUT GHL I HRT (R) HET AT R |
TR (A) : TSIE TR Teh FHUMCHS LAHT-RUT hT I 2 |
THRUT (R) : 0 sfiaq o 7Y fomwor sgar g |

= fou g e # @ wE I ghT

%

(A) (A) 3R (R) SHT @ & 3R (R), (A) <l TE) sIEAT LT &

(B) (A) 3T (R) Tl & &, T (R), (A) T Hel SATEAT T il &

(C) (A) & &, Tg (R) Teid &

(D) (A)Terd &, T (R) & &

Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).

Assertion (A) : Retroactive inhibition is an example of negative transfer.

Reason (R) : Forgetting increases with lapse of time.

Select the correct answer from the code given below :

Code :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(C) (A) is true, but (R) is false

(D) (A)is false, but (R) is true



69. JeuTcHeh P o F=ed 1§ fAfaiRad =won o1 ush 3shH # safeda Hifvu |
[. JAIY
II. gEcaTe <Y JrraT
. g
IV. &g § IUINT 2q SARSRon
= feu e e § @ T IW g
e
(A) L1, 1v, B) LIV, 1 C) 1,1, 1v, 1 (D) 1,1, 1v
Arrange the following steps in a sequence in reference to observational learning.
I. Attention
I1. Ability to reproduce
[ll. Retention
IV. Motivation for later use
Choose the correct answer from the code given below :

Code :
(A) L1, 1V, B) I, IV, 1,11 (©) 1,1, v, 1 (D) I, 1, 1, v

70. T3l 1 Th TEH U NI WiEdSh < M1 TATH! Sl AISdT 8, 9 FI1 had & 7

(A) ST T (B) TS HicHd

(C) HIg HAEH (D) feafreress yorreft

A dense band of fibers that connects two hemispheres of the brain is called
(A) Basal Ganglia (B) Cerebral cortex
(C) Corpus callosum (D) Limbic system

71. &9 U 129 13 HEH <l Y ¥ I6q] ol o1 TR L 7 3T 31131 &9 T 37 el T 3UFNT 3T
& a9t A ¥t DI IW qh HA &, IH T hEd & 7
(A) BIATSh{Teh Srett (B) SgsISHI
(C) smmu (DRENESI

Children who begin using their first words at about 12 to 13 months of age and may use partial words to
convey through at even younger ages are called

(A) Holophrastic speech (B) Babbling
(C) Gesturing (D) Cooing
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72.

73.

frefafiaga § @ sim-a1 v foeme w1 e fagra 78 8 7

(A) MR- aReheda
(C) AR Tl fagia

(B) =reeeh fargia
(D) T fogma

Which of the following is not a theory of language development ?

(A) Sapir-Whorf hypothesis
(C) Surplus energy theory

(B) Chomsky theory
(D) Slobin theory

Tt — | T - 115 |1y gafea |

T -1
a. T TREA Al hed

b. 3ced 3fieRed

c. hIE 3TIshiHeh JTHehed

a. Cross sectional design
b. Longitudinal design
c. Cross sequential design

d. Cohort effect

T -l

I. ST ST 1 Ueh TYE Ush & GHAEfY |Ign
2 @ faomE w u9e gedr 2

1. fafer=r 3y & fafi= fqwfie 6 v & oo
T T T Sl R

. fafe= sy ot & fafi= sfamfieg 6 &8 sw
SEICIREIGI

Iv. e g fqumft 1 fafir= sy ot | srerem
IERIECICI

d-1Vv
d-1l
d-|1
d-|

d. g I9E
e fou 0 e # & wE I g
e

(A) a-—1, b —1ll, c—1l,
(B) a—1I, b-1V, c-I,
(C)a-ll, b —1ll, c—1V,
(D) a—1l, b-1Vv, c-Ill,
Match List — | with List — II.

List—1

List -l
I. Impact on development when a group of people
share a common time

II. Different participants of various ages are
compared at one point of time

Ill. Different participants of various age groups are
compared several times

IV. The same participants are studied at various ages

Choose the correct answer from the code given below :

Code :

(A) a—1, b -1,
(B) a—lll, b-1V,
(C)a-1l, b -1,
(D) a—1l, b-1V,

c—1l,
c—1,
c—1V,
c—Illl,

d-1Vv
d-1l
d-|1
d-|

-20-
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74. TS o STTER Y -HIHATCHS ST H STt GHU o Jdehlceh forar o1 310 &3 o foaml § favg

75.

&l L U 2, I8 el 8
(A) 3TTcH-hrgiadl
(C) FEHfd g1 wwIfe Farea

(B) T-hi=d T
(D) Hiftd &3

According to Piaget, in pre-operational stage, the failure to distinguish the symbolic viewpoints of others

from one’s own, is called
(A) Ego centricism
(C) Thinking affected by culture

Tt — |1 G - 11 S A1y gAfAd |
gt -1

a. Tt .
b. Tied Il
c. ARATIEEh! 11
d. svga V.
Fr=r fou U foekedt § & wd W g -
He
(A) a-1, b-1l, c—Il, d-IV
B)a-IV, b-ll, c—Il, d-I
(C)a—-1Il, b-ll, c—1vV, d-I
D)a-1V, b-1I, c—ll, d-l

Match List — | with List — II.
List-1

e o o

Piaget I
Erikson Il.
Vygotsky 1.
Bandura V.

(B) Self-centered cognition
(D) Limited cognition

g -l
TR 3Tty fiagrd

F b fo
forepT 1 TN fagid
T TR % =ror faga

List -l
Social learning theory
Social cultural theory
Psychosocial theory of development
Stage theory of cognitive development

Choose the correct answer from the code given below :

Code :

(A) a—1, b—Il, c—1Ill, d-1IVv
(B) a—-1V, b —Ill, c—II, d—1

(C) a—1l, b —Ill, c—1v, d-I

(D) a—1V, b-1, c—1Ill, d-li
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76. TAEMEIRN e % fefafad =won o1t swa 3 safea fif |

| FrquiaT ST R Il. 98 S ST Y
III. TE=T S99 fHeRT it V. FfSSd S TR
= feu Tu e § | 9 IW g
&R
(A) LIV, I B) LIv, C) 1L LIV, I (D) 1, 1L, 1, 1v
Arrange the following steps of psychosocial development in a sequence.
I. Integrity vs Despair II. Initiative vs Guilt
[ll. Identity vs Role confusion IV. Intimacy vs Isolation
Choose the correct answer from the code given below :
Code :
(A) LIV, I B) LIv, C) 1L LIV, I (D) 1, 1L, 1, 1v
77. 9 U = faum § giam g 3T R 3Te S TETe Tel R T&T 81T &, dl hIehT < 3T=eL BT &
(A) oTcHe forega ammarsT

(B) FHUTTcHe foregd A

(C) ey feufa o gt 2

(D) ST H eTeHeh faega 3mmest giar 8 37X 3ok a1 deey fefa it 3 Sfran 2
When a neuron is resting and not conducting a nerve impulse, the inside of the cell
(A) has a positive electrical charge

(B) has a negative electrical charge

(C) isin a neutral position

(D) initiate with a positive electrical charge and then move to neutral position

78. = &1 YA fou q &, TFH | T 1 MU (A) TUT GER I R (R) HET TR |
AfireRe (A) : REM g1 weh fomehfora EEG foram <t arafer 2t 2, e <fig = get=ret 3ca= &t 2 |
HROT (R) : MATHH SAfreh Tt B3NASHT o SCN T AIEd gl 7 |
H= fou e e & ¥ T W T

&R

(A) (A) 3R (R) THT T & 3T (R), (A) ! TE AT LT &

(B) (A) 3 (R) gHI T &, T (R), (A) hl TE ST &l Hal &

(C) (A) & &, T (R) TTeTd &

(D) (A) T B, Tg (R) & &

Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).
Assertion (A) : REM sleep is a period of desynchronized EEG activity during which rapid eye movement
occurs.

Reason (R) : Primary biological clock is located in the SCN of the hypothalamus.

Select the correct answer from the code given below :

Code :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(C) (A)istrue, but (R) is false

(D) (A)is false, but (R) is true
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79. T — | I — 11 A1y GATAT L |

T -1

d-1ll

d-1l

d-1l

(Fgraiey)

a. AGHHHTE

b. SIUTHTE

c. TAFH

d. wweifh
H= few e e # A T S T
He:

(A)a-IV, b-I, c-Ii,
B)a-1IV, b-lll, c-I,
C)a-1,  b-1IV, c-lI,
D)a-1l, b-1IV, c-l,

Match List — | with List — 1.

List -1

(Neurotransmitters)

a. Norepinephrine

b. Dopamine

c. Serotonin

d. Endorphins

LB

(SrenT)
1. Tz, weeEm, fodn wd y@ ¥ derd
Il. TG Ugd § Ha=
I, 3T Sl FeeT H HerH
IV. g | T
List -1l

(Functions)

Involved in sleep, mood, anxiety and appetite
Involved in pain relief
Involved in sensations of pleasure

Involved in arousal

Choose the correct answer from the code given below :

Code :

(A) a—1V,
(B) a—1V,
(C)a-l,
(D) a—lII,

b-1,
b -1,
b-1V,
b-1V,

d-1l

d-1l

d-1ll
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80. THaY % ITEfdd % T % JER FAfafad § @ wH-T1 s snafad o YR T8 8 7

(A) gifera smdfaa (B) U@ mafad

(C) SfcRiges THfFd (D) =afea mafed

As per the Ainsworth’s notion of attachment, which one of the following is not a type of attachment ?
(A) Secure attachment (B) Avoidant attachment

(C) Resistant attachment (D) Organized attachment

81. Tmafafea o & ®H-81 %Y o & ?
(A) T hi=gd Hg AT ol T UG HYg &iaT & |
(B) FUST IATshTHbT IReheU-T Sad hidl & Toh FUST JTShTHAT hl 3T o I B |
(C) ot guitaiyd Igreton 1 Bier Tqg 2 S Teh |1 &Il 2 |
(D) =rffertor <ht Tfsham ST o Hexr Tase HiHTeh 3ca— Hid! & |

Which of the following statement is incorrect ?

(A) A focused group is group based on social comparison.

(B) The frustration aggression hypothesis states that frustration tends to lead aggression.
(C) Categories are small groups of well defined instances that belong together.

(D) The process of categorization produces clear demarcation between categories.

2. Trfeifigd & & SH-71 Tk ‘grer wurE’ il T & U AT HAT B 7
(A) BEAET &g SAfFATd grfied I SgMT
(B) witfexfa shi =men =q Sreasedn sl Ffa e
(C) HETIAT UM & ITIER i TGHT
(D) A& B AT grfeied shi T
Which one of the following correctly explains ‘Bystander Effect’ ?
(A) Increases personal responsibility to intervene
(B) Controls ambiguity to interpret the situation
(C) Increases chances of getting help

(D) Decreases personal responsibility to intervene
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83.

84.

Hr=r 31 e few w2, fF | T 1 AR (A) T GER ST IO (R) e T R
R (A) : TEyar i feafa & @ ffea dg AMeueEl i e i € |

RO (R) : ST STATEH < fefa § yeer-vase sy ¥ wwifad gid @ |

i few e e # @ wE IR g

%e:

(A) (A) 3R (R) QT &ed & 3R (R), (A) *h! HEl AT HTdl 8

(B) (A) 3R (R) THT @ed &, W (R), (A) hl HEl ST el Ll B

(C) (A) T &, T (R) TTeid &

(D) (A) I 8, 9 (R) &ed @

Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).

Assertion (A) : People follow implicit group norms in conformity situation.

Reason (R) : People are influenced by direct-explicit request in compliance situation.
Select the correct answer from the code given below :

Code :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(C) (A) is true, but (R) is false

(D) (A)is false, but (R) is true

T TER ITETT HH IR0 R § foret safdq § seu e b feafa @

(A) GTHTSTeh—HTeHTcHe aTel (B) GMTcH fagantedr

(C) T ToTRITOT Ffe (D) EAFTCH SFEeH

The state of tension occurs in an individual due to holding two inconsistent cognitions is

(A) Socio-emotional tension (B) Cognitive dissonance

(C) Fundamental attribution error (D) Cognitive imbalance
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85. oAfadcd ffeNuN o Tra-e | Tord faeshed 1 92 HIfT |
(A) SO T < SEER 1 90 i o g AT o gfaead g 8
(B) SfierTor gEA % SEER &l avi i & forg Afoet & wfteaeff oz 8
(C) SfieroT TeTeneh U AR & &
(D) SfEUT s TREqR Fraf-ad JHT ST 8

Select the incorrect option regarding personality traits.

(A) Traits are competing set of categories to describe own behaviour
(B) Traits are competing set of categories to describe others’ behaviour
(C) Traits are dynamic and unstable

(D) Traits are perceived to be interrelated

86. ATAUIE % ITHR T&d feh =9 MU S fob sAferaai 1 STfUdeT Hid &, Hedd &
(A) =hiféTer sheror (B) w4 Tfterom
(C) |TURoT il (D) JTETLROT IOl

According to Allport, most pervasive traits which dominate individuals are called
(A) Cardinal traits (B) Central traits

(C) Common traits (D) Uncommon traits

87. S % IR ™ fHgia & 3ferad ¥ ffefaa smfre 2
(A) Afaer sifacdien, o, SrEisn
(B) 3TTcq-3TacAteh, fofa ufshan, 3mew uffshan
(C) JATCH-TTHM, ATcH - SATavIhdl, TTcH-TTd
(D) ST, TS, JATcH - T=m JeT

The self system of Bandura’s social learning theory includes the following
(A) Moral justification, attribution, denial

(B) Self observation, judgemental process, self reaction

(C) Self-regard, self-needs, self-congruence

(D) Expectancy, affects, self-regulatory plans
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89.

90.

91.

‘TeqE Toram T werT e aitEdHT 1 SRRt 2 | A8 U W o fohe fagia i 3 war 8§ 7

(A) S et fergra (B) < =€ frgra

(C) rer for fargia (D) TTSRE BiehaA firgia

‘Felt emotion is the perception of bodily changes.” This statement indicates which theory of emotion ?
(A) James Lange Theory (B) Cannon Bard Theory

(C) Schachter Singer Theory (D) Lazarus Folkman Theory

&S & Tcaefientul H§ IR Ush3iefid Gehd Bid & | fiefafiga § 9 sia-a1 ueh Gohd 721 8 7

(A) e ufgen (B) ATIE &I

(C) 9&q (D) U

There are four monocular cues in depth perception. Which one of the following is not a cues ?
(A) Linear perspective (B) Texture gradient

(C) Interpolation (D) Interposition

I8 U ST AT ST TE AT <l AT o TR o foeg feret wdietor wemer W foRel safaa grn wEt s e
<l HTAT i ST 8, W Hal ST &

(A) UTeR %aH T5h (B) Tfter srrfen femiyar ash

(C) Tg ferwar ash (D) e feurfd sk

The graph that shows the probability of correctly answering an item of a test against the level of ability of
the construct being measured is called

(A) Power function curve (B) Receiver operating characteristic curve
(C) ltem characteristic curve (D) Serial position curve

feret wieqor bt forgaaiaar 3R 3geh! oS & e dien graey Bar @ |
(A) T HYT THI T &

(B) ¥E HYT A B

(C) 3w feufai 4 o8 woH ¥ &

(D) THT HESRY T ElaT B

There is a direct relationship between the reliability of a test and its length.
(A) This statement is always true

(B) This statement is false

(C) This statement is true under certain conditions

(D) This relationship does not hold
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U el U AHE § TSR] § HHEAT o HoATHA hl Hal Il &

(A) Taverarg fovegierar (B) wteror-gttequr fervareerar
(C) favreratg Serar (D) TreToT-gddiereT Jerat

In a given time, the evaluation of similarity in scores is called

(A) Split half reliability (B) Test-retest reliability

(C) Split half validity (D) Test-retest validity

e T gfg wieror § I ST w=I e St 2, o 36 Pad @

(A) THeuAT gheu (B) T&ATCH TLieT0T

(C) Toeure qhieqor (D) TR-frsures wdreror
When no language is used in an intelligence test, then it is called

(A) Imagination test (B) Creativity test

(C) Performance test (D) Non-performance test

Torvarerfarar frafor S a1 foeag faftr w61 wRimT vt T whtegor 6t &1 3ne v § foede it afagfd &
T GURIISH 3199 HT 1T | 38 THESH 1 i o Ffalad § & ferdert s foran Star 2 7
(A) 3T TUTIh (B) 3Tl U HEHwY

(C) THREA ST Hife (D) KR-20

While using the split half method of estimating reliability, an adjustment must be made to compensate
splitting of the test into halves. Which of the following is used to make this adjustment ?

(A) Coefficient alpha (B) Product moment correlation

(C) Spearman Brown formula (D) KR-20

¥} HAehIhd T $B FHER AHMEUE YeH hid & | MHfaRad § § -9 T 9yg-i AHers
Zuft o TTd AR AT B 7

(A) gfcsrdien (B) IS THHET

(C) HTeh SITTh (D) ferrer 1Q

All standardized tests provide some form of within group norms. Which one of the following not comes
under the within group norm category ?

(A) Percentiles (B) Grade equivalents

(C) Standard scores (D) Deviation IQ
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(A) (A) 3T (R) ST Hed & 3T (R), (A) Sl FEl SATEAT Rl
(B) (A) 3R (R) €Il Wed &, T (R), (A) <hl Tl SATEA el il 2
(O) (A) & B, T (R) Tordl &
(D) (A)TTEd B, T (R) T &
Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).
Assertion (A) : Validity is a prerequisite for a test to be standard.
Reason (R) : Validity indicates the extent to which the test measures what it intends to measure.
Select the correct answer from the codes given below :
Code :
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true

97. M =1 feek THET o HEAWHI ! o i & forw ffefea § & - |ifeash gamgsa g,
o HE! T BN EEH & qUT TEL0T % GEETdT sl SFEaLren g 7 & W a2
(A) EHT=ITET S Thicw SeroT 61 fergeraor smanfa F-odver
(B) 9o T F-uiero
(C) T STTTHT TUSISH F-qdiequr
(D) &g Tard WieR t-aiegr
Which of the following statistics will be most suitable for comparing means of three or more groups when
the group size is unequal and assumption of homogeneity of variance is not met ?
(A) Regularly used one way ANOVA based F-test
(B) The Welch’s F-test
(C) Roy Borgaman stepdown F-test
(D) Multiple independent sample t-test
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AT SRRl 956 H WM, Hedieh 3 S8 %1 A 8T 8
(A) @it it (B) @yt =g fire
(C) =&d At fo=t (D) THM /sTTeR

In normal probability curve, the value of mean, median and mode is
(A) Slightly different (B) Somewhat different

(C) Very much different (D) Same/equal

TR B % o0 Te@eHT o8 GsHIcas Tk i e STee =l 3eew 8 7
(A) T&-HishaTcHe e

(B) 31E TishaTcHeh Tl

(C) HadI-HfshaTcHesh 3TaEel

(D) 3fiu=ies Hfsharceh TaEen

‘Shakes a rattle to make noise’ is an example of which stage of cognitive development ?
(A) Pre-operational stage

(B) Concrete operational stage

(C) Sensori-operational stage

(D) Formal operational stage

A1 9 sfeww frefaRed % frem 9 wfRE 2

(A) ofifa (B) IR LTl

(C) TATE TR (D) ®U=afa ferepfe

‘La belle indifference’ is related with the diagnosis of the following

(A) Phobia (B) Somatic symptoms

(C) Panic disorder (D) Conversion disorder
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